EARAROBEEIERT — 2 N— IBISH —F

2018511 A9H (£) 13M55#5H

3R B ARN W (xmlm [ memml - |y ) oo nE
[xE£] 1%:180,000 1  2#&:42,000™ ~ 33#%&:18,000 W ~ 437%&:13,000 W 5 3#&:9,000H
B ®RBE RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
1 6lE—rT7u T 3 5731%05?*?1 1:(28).7 3321 |87.6| — | 3 | 447 ﬁ%gfﬂjﬁp(%%‘%ﬂ
R:xF1ZHr—2 BYVIAFAvITIA b O ket U Tr—n
5 A\ XTIy T # 7 5%1%#11& (11:218/.29) 5532 |37.6| — | 6 | 500 ﬁué?;m (%)
L:rh—r BREANFTAA (+4) KIFERS
3155 FLHL—NnY R 4 4 ?é.%g%ﬁi (12219/24> 7-6-5-4 | 37.7| — 2 499 zg‘gg (BHER)
Libh—tikTLRY B:RE&-aL 75— (-5) NE Rk
alglg| 7E-—L 4 E%E% 1:(29).6 2-2-1-3 [38.6| — | 4 | 449 fgil;%&ﬁ (%42)
. 1 =—
R:vavFhr7 B:SATU-ELR (1) H"HBET7—L4
5 3| RTYvES 3 gﬁﬁs%ﬂ 1:?3.4 6-6-6-5 |38.4| — | 1 | 48 %igg &2
L EAES Y M BELES RRR =i
6177 F—F="I o4 | RIAA 1:(3;).0 1-1-4-6 |40.1| — | 7 | 420 g%ﬁﬁﬂ (1)
R:TFRYTT BiTE—FNTT 8 | TATA vvs77—n
VAR IR REAN AN it 5 g’ﬁ%ﬁlﬂ?& 1:(362>.2 4-4-7-7 | 40.8| — 8 | 436 ?Eﬁffﬁ(*é)ﬁ*’m
R:TTyIEAK BioLTRRSAA )| g
8 o | 77AF4—F 4 2‘%5355%1 1:(332).9 8-8-8-8 |40.2| — 5 | 401 ;ﬁgg% (&)
U4y U= Bi3RI=/8-2 )| s
@ 1 — S —EBIEf
1S=9r= 7,8,6,1,4,3,5,2
2al=3F= 7,8,6,1,4,(3,5),2
BEE 8,6,4,7,5,3,1,2
43—+ — 6,4,8,5,3,7,1,2
[ F/N=5
B OB 6 850 74K 4-6 2,330M B = 4-6 22,330M & 4-5-6 12,770M
% B 6 2104 5-6 480MH B E 6-4 28,000 JEH 6-4-5 154,690H
4 510 4-5 1,810
6 1204

ABICOVWTRDTEEERROODE. TR LIV,




